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For the motion of an object one finds (through observation) the position-time law

=A sir(wa,
where A and w are positive constants.

1. Show that the magnitude of the force [, that accelerates the object is proportional
to |z|.

2. Show that the potential energy function associated with this force has the form
V{z) = cx®. Is ¢ a positive or a negative constant?

3. Calculate the work necessary to displace the object from z; = 0 to zy = A. Does
the object speed up or slow down?
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Problem 6.24

Skydiver jumps from alrplane
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Problem 6.36
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Problem 6.38

Will skateboarder reach B ?  TE, =UE, +PEy

C :%V:'} T‘ﬂhA
I7 0 m = TE, 3mhe?
¥ Va=Bmls = z’zﬁ'\/ﬂ%/_]%%
i /




Problem 6.58

Compress spring and release it
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